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This one made a 7?17 in the trees, etc. — 9912 NN P T

OVERVIEW

The X 13 cites a npY?rn between 7°21 21 and X995 27 regarding two people, one of
whom made a 7P in the trees and the other made a 71 in the land. 7°21 29
maintains they each acquire that which they made a 7?11 on, while "7 maintains
that the 172°K2 P> acquires the trees and half the ypap, while the other receives
only half the ypap. There is a dispute between the 2"2w2 and NMdOIN as to what is
meant here by p>mi.!

— 595N DIV /3 NPINA INDT 000N W

The 0"2w" explained that the X773 is not discussing the three year 7p1m -
— NN NPT M IVWA AN DI PIINNI MITIN NI YPIP NY 9919 NON

But rather, the owner sold one the land and sold the other the trees (on this
land) and each one (of the purchasers) made a 1I? npt on his purchase, for

instance the buyer of the land dug up some of the land (which is a valid aprm) -
— 937 *NYDYTT ROWIN X9DYT AYWAT IND INA 1DY 1INTI 179NV MI9IN Hya)

And the purchaser of the trees pruned the trees, which is also a valid 7pin, as
oX1W rules later in the X723, ‘this man who pruned the tree for the benefit of
the tree, he acquires the tree’.

The " disagrees:
— DY /) HPINA 9NRT NINT PHINNN NIYAPIND 7YY MN KDY PHYY 13939Y HYP

And the "1 has a difficulty with this interpretation, for the X737 7701 should
not have placed this discussion about 717 NP on our w» here (of 2°n27 NpPIN)
which discusses 2% '3 npI -

— 1937 YW MPIN 232 “MPY NN
But rather he should have inserted this npy?nn later in the X3 where the

' There are two types of 7ipin; one is a 1"3p npin, it is one of the modes in which the ownership of property is
transferred. When the recipient (or purchaser) of property makes a npm in the ypap, either 91 973 9y, etc. he
becomes the owner of the property. The other fpi, which we were discussing in this P79 (until now) is a 7°X1 DpIM;
if a person harvests the produce of a land for three years without anyone protesting (and he claims that he bought it),
this 711 is sufficient proof that he is the owner.
At oo,
dR,T.
* However, if he pruned the tree to use the pruned twigs to feed his animals, it is not a valid 13p npir (even though it
would be [part of] a valid i°X1 npn).
53,21 (and onwards).
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discussion is regarding np1n of acquisition (not 221w 3 NP1 which is a X1 NP —

mooIn asks an additional question on 2"2wA7 NV W:
— 199591 G0 VYN 29V NPIN VP INNNT NI

And furthermore, why does he mention 71?117 11 rather than the 0°1°17 of either

502 ,uWw, or 'PB"?R, which are also ¥ 11y, instead of 111 -
— TNIDAT NOND NI 991 VPITI BN 9919 VPINIY N NN

He should have simply stated ‘he sold’ as the X713 states ‘he sold’ in the entire
following N°3® without mentioning specifically how he was 111p (for it is irrelevant).

mooIn offers his interpretation:
—*oov 1 NPINA I9NRT PN 139290 AN

And it is the view of the 3''9 that the X72) is discussing 2% ' NP7 -
— 099 ¥PIP2 MIYIN YPAY PN YPIP NP N TN NP DT 1At 29597

So that according to 1''= this one acquired the trees and this one acquired the
land, so that the tree owner has no rights in the ypap at all -

— 127993 DYINN YOI XY 1WA’ %5 799
And therefore if the trees wither, he cannot plant other trees in their place, since

he only owned the trees but not the land (not even the land upon which the trees stood) -
— YPIP I8N NNIYIN NIP NTT 920 NS 299

And 2'"% maintains that the tree owner acquires the trees and half the land -
—ymmn 593 95NN DT 3INY DIV ¥PIPN 9a NIPIY XY W99

Meaning; not that the N>R %¥2 acquires the land proper, for the ypap Hv3,

made a P17 in the entire ¥pPap -

— 1217122 DYINN YU IYAINS DNXY )IvY NON
But rather he is ypp 712 to the extent that if his trees will wither, he may
plant other trees in their place —

mooIn responds to an anticipated difficulty:8

% The case according to Moo is that 1w=w1 12987 claim that they bought this field and the trees from 1%, the (1y7wn
and) original owner. 123X1 bought the trees (and had 2°1w '3 np11) and 1w»w bought the ¥p P (and had 21w 3 npTh in
the entire ¥p1p [even under the trees]). The issue is whether 1217 has the right to replant his trees after they wither
and die. 1" say no and 5" says yes. See ("1 737 11"72) »n"n1 for an alternate interpretation that 1WwnwY 12187 each
claim that they own the entire property the trees and the land 71 3 IR 721021 w>°y.

7 Both 9" 1" agree that in this case of w"x npi the reason the N13%°X 72 has no ownership in the ¥pp, is because
the ¥ Hva made a ypapn 32 1. [See footnote # 6 and footnote # 9.] They only argue as to whether his 7p1m in
the N1?°X allows him to replant them. See v¥1 MR *"23, why 5" calls it ¥pp *xm.

¥ On the '2 71y the X ma differentiates and states that when do 5" 1" maintain their respective opinions, only by 1w
mmp? (but not in the other case the X3 is discussing [N12°R w1 ¥pap 1on]). It seems obvious that the Xnmx
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— PP DY NN NTY 19107 TINDA 1YY NI
And from this we shortly derive that when he sold the trees to one and the

land to another -
— 15 W N9 299) 1WAIWAY 11917152 DIINNR YUY DIV ¥PIPa INYIN Hab PN 1At 2994

That according to 3'9, the 17X H¥2 has no rights at all in the ¥pap, not even
to plant other trees in their place when the current trees will wither; however

according to "9 the NM1%°X %2 has this right to replant other trees -
— DNDA YPIP NI MNIDIN NTY 991 ONRT NN NI2DT

For it is logical, that if he sells trees to one and land to another without

specifying (what rights they have) , the rule is according to 5" that -
— VYA NIYIY 11DIPNI DIINN YVIT YPIPN INIYIN bya NP

The nu»R %¥2 acquires the ¥pap to plant other in their place when they will
wither;’ it follows -

11T PIYY 9I9NY 19 v npn o)
That also his 717 in the trees should be effective for this purpose of having the
right to replant the trees.

SUMMARY
According to the 2"2wA the term P°117 means 717 7°3p and according to MooN it
refers to w") npim.

THINKING IT OVER

Mmoo explains the assumption of the X% that 5" 19 are arguing about '2% 197
mmpY, when according to Mmoo we are discussing w"s npin.'!' However if we
assume that they both admit that ¥pap [3p 7 nIK 73p 1,2 then the case of npin
w"3 is identical to ¥Ypap 7121 NIIP°R 719 7On; so what is N1©OIN question?!13

assumes that the npY?mn between "1 1"7 is in a case of ¥pIp 7171 MR 1% 2% 752w 'K, but not in a case of W"3 npin
(where the 2¥7vn may claim that it is all 79173). See ‘Thinking it over’
? In this case of 12, the reason the Mi»X71 v has no ownership rights in the (¥"19%) P77 is because it is assumed
that when the owner sold one of them the vpap it is as if he explicitly denied the n11%°X77 2 an ownership in the
ypp. See footnote # 7. The comparison of Moo from 7P to 731 is not regarding the lack of the nu?°xn Hya
ownership in the yp7p (for it is for different reasons), rather the comparison is (only) whether he has the rights of
replanting, as MO states 77 PIY2 2V NP O3 191 DPIPR DR YOI,
' Seemingly moo1n should have phrased this in the reverse, since by 7ipin he retains the right to replant, therefore by
buying he also has this right (since according to nMooIn the npY?n 7P°Y between 5" 1" was by w"s npri and not by
79n). The answer is that 137 is where the rights originate, not the reverse; 7Pt merely substantiates a 7n.
' See footnote # 8.
12 See footnote # 6.
" See »"n1 and 1 2> MK 7"20.

3

TosfosInEnglish.com



